1.
Concrete Filled steel Tubular
CFT
B
ft s D ts
10
20cm
CFT
[1] CFT
[2] 72 SS400
CFT
2.
3 M/Sd 2
6
SS400
24 MPa
6
-1
T S
3.
-1
4

2005 3
250
—30
=
500
1760
_._TS
200
1 N
!
i
i 700
I
I
|
f. s
200 400 200 800 o 400 200 1" 400 T 200
! 1 i
| 2400 or 2000 ; :
| ! !
1 i i
1 1 -
; Ml + BM.D |
|
iM/Sd=1 or 2 I
i S - SED I
+ n !
-1 ( :mm)
3
-1
5 25mm
50mm
1
3
-2 1
1/4 3 3
1 3
& ) (=
L C R L C R
100 or 200 100 or 200 100 or 200 100 or 200
' -
200

-2




30mm 5 15 3 My, =8 oo X (4a)
(LCR) 1 s SRC
My =M +Mg (52)
3
4. MCU :(l' Xn)xn )BC Yeu S ¢ (Sb)
_ 2 2
[3] Mg =(1- tg /B)B? g8 o +2(1- X, )x, B> % s o, (50)
(4] SRC (2] 5
CFT 1
3] [4] b2
1
T32-S1 T16-S2
(2] T10-S1
[2,3] -1 2
[2’374]
2
T32-S1
[2,3.4] T32-S2 -1 -2
1
Ss =t Ay (1a)
tou =ty (Rr 0'35)
0.32
20.60 (1b)
= g—: f oty (0.35<R,)
R o
RC
Syd =Scd  Sed (2a)
Seg =byg Xbp b, > g X0 xd /g, (2b)
Set = [AuS wya (sina s +cosa )/ sg]z/gp (2¢)
S vea =0.20 85 ¢ (2d)
Syad = Scad  Ssad (39
Scad =bg Xb, xb, 38 4q X0 xd /gy (3b)
Ssaa =F *Sgg (30)
S dd =0. 19-\'3 c (3d)
f,=-0.17+0.3(, /d)+0.33/ p,, £1.0 (3e)
2
-2 T32-S2
-1
[3] [41 [31 [31
RC
Poa=P Pya=Po
t0 ts B B/ts L ald Ssy Ss Es Sc¢ Ec Pss PsiJ Pcd Psd :Ps:lde Pcdd Psdd y(_fPdedd Psn Psrc
(mm)(mm) (mm) (nm) MPa)l (MPa)l (GPa)l (MPa)l (GPa kN KN _1 KN | KN kN kN kN kN kN kN
T32-S1 §3.2 |3.10 65 | 400 1 181.61307.4195.1 | 25.8 | 25.4 200.8 209.8 | 68.0 | 323.6 3915 2754 77.3 3527 640.8 567.3
T32-S2 § 3.2 |3.10 65 800 2 181.61307.41195.1 ] 264 | 25.3 281.1 293.7 1959 | 453.0 5489 |155.2 | 245.2 400.4 383.2 343.0
T16-S1 § 1.6 |1.57 200 127 | 400 1 215.91335.3]199.5] 254 | 254 96.3 1285 | 54.0 | 195.8 249.8 1219.1 66.8 285.9 293.1 378.2
T16-S2 § 1.6 |1.57 127 | 800 2 215.91335.31199.5] 262 | 254 134.8 179.8 | 764 | 274.1 350.5 |124.3 176.1 300.4 175.6 228.7
T10-S1 § 1.0 |0.95 210 | 400 1 209.81320.7]195.1 | 189 | 22.6 48.8 763 | 415 115.7 1572 ]160.4 55.2 215.6 151.7 2333
T10-S2 8 1.0 1095 210 1 800 2 2008132071105.1 1257 ]254 08 3 1068 16431 1620 2263 104.5 126.0 2305 97.7 144 8




-3 P R €
V.t~
3 4 .
1 4 77 d } & /
A= 1
2 4 s
(a) T16-S1
1
Ly C R
» A
(¢] 2 - /‘
3 Y / 7
: s /
> 7
J/
(b) T16-S2
-4
P(kN)
4
N :
<y 400 — T32-51
R -=-T32-S2
A —— T16-S1
o,llf’r\{ ---T16-S2
e TS S
P s s s
700000 1000 - 2000
€ (W) R(%) -5
-3 - o R
3 (1]
, 3
(@]
(@]
1)
2) Hooke 2 R
3) von Mises
4)
-4 T16-S1 toor ——T32-S1
----T32-S2
T16-S2 ——T16-S1
----T16-S2
—T10-S1
----T10-S2
-2
. ' C—
T16-S1 . . . . .
0 100 200 300 400 500
0 C S (kN)
-5
S
T16-S2 C L R s
S
-6 -7
-6
-7 1 2

T16-S1 T16-S2



90%

Ss
Su (3]
Paear 1.17 1.07
T16-S1
T16-S2 1.25
T16-S2 1.15
300
i § Pa3048KN |~
%‘ ——S
<200
n [3.4]
. -2
100 ‘ p,,f"’
__________ > -.-'._.-: e _—_“—_ 1.3
23]
g-009%" \ | \ | | )
0 100 200 300 400
P (kN)
-6 T16-S1 -
300 6.
—S
. —o—S, 1)
= —5,
<200} |5 !
©n sU 2
100
BT I I I ,
0 100 200 300 400 2)
P (KN)
-7 T16-S2 -
5
-2
-1
(1]
Vol5 pp377-384 2002 [2]
1 2001 [3]
, 1997 [4]
’ [ ] 2002
40%  30%
-2
[31 [4 [4]1 [31+[4] [31 [2
RC RC
Poer | Py Ps Pe dp p|Pp| PPy |PsPa | PerPes | PoPo [PuitPotPan) | PuiPan | PuPac
KN N v [ [enTo%
3251 | 65 5910 | 6618 |2455] 41.5|3455|s85] 122 | 117 | 361 | 318 | 165 | 1.25 1.36 103 | 117
3282 | 65 ) 5005|2520 50.3 [ 248.5] 49.7| 090 | 0.86 | 263 103 | oss | 1eo L1l 131 1.46
TI6S! | 127 3948 | 4505 |142.1| 36.0]2526| 640] 148 | 111 | 263 | 213 197 | 115 1.30 154 | 119
Ties2 | 127 : 3023 | 1100 36.4 [ 1922] 636] 082 | 061 | 144 | 062 | 107 | 155 0.99 2 | 132
TI0S1 | 210 2810 | 3150 | 819 | 20.1]199.1) 709] 168 | 107 | 197 | 148 | 261 | 1.24 1.33 208 | 135
082 | 210 ) 1000 bagalosaliaizlzacl ozt boas | o075 | 046 | 133 | 136 0.90 Lo4 | 13




